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7 = M - HIZE0 S 2 AIXHR B o

g A 1,353, 000,000 40,590,000
2 eS| 1,231,000,000 36,930,000
SE3H 122,000,000 3,660,000
SIIESE3A 54,000,000 1,620,000
A=C I3 LSE 35, 100,000 1,063,000
St==BIILSE3 18,900,000 567,000
JIEtSE3l 68,000,000 2,040,000
L SESA 6,416,000 192,480
2S0II=EE3 A 3,551,000 106,530
FUASAAL LSS AIHSE 936,000 28,080
FEEAMESE A 404,000 12,120
X=AtHSE 3 23,423,000 702,690
FAESE 5,790,000 173,700
CHAI2 & SE3 288,000 8,640
LA AST A I EE 3| A 20, 130,000 603,900
HIIS M2 AEMESE S A 6,593,000 197,790
AN XML ESE S A 415,000 12,450
BEAFHI LGN RAAMSEE 3 54,000 1,620

M2 M- AHE 0ate SAls "M - AS ola" Dt 20
M 3 & MRPRHAAAY HSMSES
Mo 4 = JHSHIAY HEAESS.
M 5 FAIOIZAY oHEAIESUS.
M6 = LBl Oidldl= 23,642,075 322 8L,
(L BHoilHIHl 10,000,000 &, THoH - THEHSH0HIH] 13,642,075& &)
M7 = 2Btg|H & SE3IA(201Y SE32 Z8) NEMIILSEH2 59,200,008 22 Lt
M8 & XNYMEH M47z22 Mg SARE0 et D= 28/01 L8 bl X S 2HUHA 2 220 JUs EH
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